[BFERARE

B4 AR ESMET7]

[ No. | (IB)F & | (H)E b i a2 E
1 |ERFER/IE 15 3 H F R R 45% ih
2 |ERFE/IE |2FHhD1 B F R R 45% ih
3 |ERFE/IE |3FHD1 B HF R R 45% ih
4 |ERFE/E [3BHhD2 B HF R R 478
5 |ERFE/IE 4FHD1 =2ERFER/IE 124 b
6 |ERFE/ME [4FHD2 =ERFER/IE 122 b
1 |EKFER/E 4BiHhD7 =ERFER/IE 122 b
8 |ERFER/IZ [4FHDS =2ERFER/IE 123%
9 |=EHKFEB/IE 5% 3 H F R R 45% ih
10 |=EHRFER/IE |63/HD1 BHEHFT AL 445
1 |ERFER/E [6FHD2 =2ERFER/IE 119 Hh
12 |ERFEBR/E [6FHMD3 =2ERFER/IE 119 Hh
13 |ERFE/E [1HMHDI =2ERFER/IE 126 b
14 |BERFEBR/)ME [1FEHMD2 =2ERFER/IE 118 b
15 |BERFEBR/ME [1FEHMDS =2ERFER/IE 110FH#h D2
16 |ERFEBR/GE [1FHMD6 =2ERFER/IE 118 b
17 |ERFE/)ME [1HEMDT =2ERFER/IE 118 b
18 |BERFEBR/IME [1FEHMDS =ERFER/IE 110FEHhD 1
19 |ERFEBR/GE [1FEHMDI =ERFER/IE 126 b
20 |ERFEB/E 1B D10 |ERFE/IE 126 b
21 |ERFE/E |1BHDI1 =ERFR/E 1087 b
22 |ERFEB/E 1B D12 |ERFER/IE 1097 b
23 |ERFEB/E 1Z#4D13  |ERFER/IE 126 b
24 |ERFEB/E 1B#HD14  |ERFER/IE 1178 Hb
25 |ERFEB/E 1B D15 |ERFER/IE 116F b
26 |=EHRFE/IE [8FEHDI =2ERFER/IE 120 #h
27 |ERFEB/IE |8FBHD4 =2ERFER/IE 112 b
28 |ERFE/E |8FH®DS =2ERFER/IE 121 % Hb
29 |ERFE/E 8FH#D6 =ERFER/IE 120 #h
30 |=EHKFE/E [8FEMMDT =ERFER/IE 1227 b
3 |ERFEB/E 8B#HDI0  |ERFE/IE 113 b
2 |ERFEB/E 8B#HhDI12 |ERFER/IE 1115 #h
3B |ERFEB/E 8BNS |ERFER/IE 119 #h
M |ERFE/IE [12FHD1 =ERFER/IE 1007 #h
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3B |ERFE/IE [12FBHD1 =2ERFER/IE 1037 b
36 |ERFE/IE [12FHD1 =2ERFER/IE 114 b
37 |=HKFER/IE (12803 |ERFER/IE 917 iHh
38 |=HKFER/IE (12804 |ERFER/IE 98 ith
39 |=HKFER/IE (12805  |ERFER/IE 107 Hh
40 |=HKFER/ME (12806 |=KFER/IE 95 ih
M |=ERFER/ME (12807 |=KFE/)E 99F it
42 |=RFER/ME (12808 |=KFER/IE 1047 b
43 |=ERFER/ME (128D |=KFE/)E 1067 b
44 |=ERFR/E 128010 |ERFER/IE 105 b
45 |=ERFR/ME 128011 |EXRFER/E 96 ith
46 |=RFR/IE 128012 |ERFER/IE 98 ith
47 |=RFR/IE 1281013 |ERFER/E 97 Hh
48 |=RFR/IE 128014 |EXRFER/IE 97 Hh
49 |=RFR/E 128018 |ERFER/IE 917 ih
50 |=ERFEBR/EE |12%MD19 |=EKFER/E 93 % ih
51 |=ERFEBR/IE 128020 |=HKFER/E 99F ih
52 |=EHKFER/IE [13%MD3 |ERFER/IE 94FE #h D2
53 |=EHKFER/IE [13%MD8  |=ERFER/IE 94FE# D3
54 |=EHKFER/IE [13%FMD9  |ERFER/IE 94FE #h D2
55 |=ERFEBR/E [13&MD12 |=EKFER/E 94FE #h (D2
56 |=HRFEBR/E [13F/MDI13 |=EHKFER/E 94FE# D3
57 |=ERFEBR/E |13&MmD14 |=EKFER/E 94FEH D 1
58 |=HFER/IE [17&FMD3 |ERFER/IE 90 it
59 |=HKFER/IE [17FMDI10 |ERFER/IE 92%ih
60 |=HFEB/IE [17HF D11 |ERFER/IE 90 it
61 |=HKFER/IE 20804 |ERFER/IE 81&ih
62 |=HFER/IE [20&HmD8 |ERFER/IE 88 ith
63 |ERFE/IE [22FHD1 =2ERFER/IE 127 b
64 |=HKFER/IE [22%MD2 |ERFER/IE 87 &
65 |=HKFER/IE [22%&hD4 |ERFER/IE 847 ih
66 |EHRFEE/IE [23FHD1 =2ERFER/IE 1027 b
67 |ERFE/IE [23FBHD1 5 B = [R5 31
68 |=HFER/IE [23%MD2 |ERFER/IE 1287 b
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69 |=HKFER/IE [23FD4 |ERFER/IE 101 F b
70 |=RFER/IE 258t =2ERFER/IE 1297 Hh
71 |=ERFER/E 268t =2ERFER/IE 1307 #h
72 |=ERFEB/E (275 5 FH = [ B 38Fih
73 |ERFE/IE |28FHhD1 =2ERFER/IE 83 ih
74 |ERFE/IE |28B#hD2  |ERFE/IE 85 ith
75 |ERFE/IE |29%iHh 5% FH = [ B 30 ih
76 |ERFE/IE |55FHD1 =2ERFER/IE 86 ith
77 |=HFELIRM |58% i =ERFELIE M 1223
78 |=HFELIRM |59%F i =ERFELIE M 1243t
79 |=HFELRM |60F it EREF—A0R 31
80 |=HFELIRM (617t EREF—AWR 31
81 |=HFELIRMh (637t EREF—A0R 31
82 |=HFELIRM [64Fth D1 =ERFELIE M 108 ith
83 |ERRFEIEM |64F/HD2 |ERFIEEM 109 ith
84 |ERFEIEM |64F/HDI  |ERFIEEM 109 ith
85 |ERFEIEM 64BN |ERFIEEM 108 ith
86 |=FFLIRMh (667t =ERFELIE 110t
87 |=HFELIR M (687t =ERFELIE M 1133t
88 |=HFELIR M (697t =ERFELIE 1143
89 |=HFELIRM (7073 =ERFELIE M 97
90 |=HFELIRM (7073 =ERFELIE 112%ith
91 |=HFELIRM (7023 =ERFELIE 130 ith
92 |ERFHEREA [1FHMDI0  |ERFIHRM 125%h
93 |#HEFAIE [1FMHDI 5% FH = [ B 49% i
94 |SHEFRIE [1FHD5 5% FH = [ B 33F i
95 |SHEFRIE [1FHD6 5% FH = [ B 47%
96 |SHEFRIE [1FHD8 5% FH = [ B 4%
97 |SHEFRIE [1FHDI 5% FH = [ B 4%
98 |#EFRIE [1FHMDI0  |HEATFRE 2%
99 |#EFaIE [1FHMODI1  |SEATFEE 47%
100 |SREAFAEIR [2ZHD1 5% FH = [ B 297 ih
101 |SEFHEIE [2F#D14  |SEAFEE 297 ih
102 |SREAFREE [1FEHHD1 B HEFHRR 457 i
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103 |SREAFREE [1F/HD3 B HEFHRR 457 i
104 |SEEAFRE  |2F#h BREFEER 457 i
105 |SREAFIREE [3EHD1 5% FH = [ B 58 % ih
106 |SREAFIREE [3FHD2 B HEFHRR 457 i
107 |SREAFIREE [4FHD1 5 FH = [ B 632 ih
108 |SREAFIRFEE |4FBHhD2 5% FH = [ B 627 ith
109 |BREAFIREE [5EHD1 5% FH = [ B 697 ith
110 |SREAFIREE [5F-HD2 5% FH = [ B 70%h
11 |SREAFREE  [5EHD3 5% FH = [ B 68 ith
112 |SREAFIREE [5EHD4 5% FH = [ B 68 ith
113 |SREAFREE [5EHDS5 5% FH = [ B 672 ih
114 |SREAFREE [5EHD6 5% F = [ B 662 ih
15 |SEAFRE  |6FHh 5 B[RS 537 ith
116 |SREAFRE [7EMD1 5 FH = [ B 562 ih
17 |SREAFREE |78/ HD2 B HEFHRR 457 i
118 |SREAFIREE [7H/HD3 5% FH = [ B 578
119 |SREAFREE [8FEHD1 B — R 43% i
120 |SREAFIRFEE |82 B EFHRR 457 i
121 |SREAFRE  [10FHh 5% FH = [ B 502 ith
122 |SREAFREE (115 5% FH = [ B 51
123 |SHEFRE  [12%F# B — R 43% it
124 |SEAFEE [13FHD1 |SEAFEE 48% i
125 |BEFEE [13BHhD2  |SHEFHERER 457 i
126 |SREAFIREE [14%Hh 5% FH = [ B 527 ih
127 |SREAFREE  [17%FHh 5% F = [ B 39FEith
128 |SEAFEEE [18FhD1  |SEAFEE 647 ith
129 |SEEFEREE [18FhD18  |HHAFEE 42% i
130 |SEEFEEE  [18FhdD21  |HHAFEE 4475 i
131 |SEFERE  [18F#hdD23  |HHAFEE 43% i
132 |SEEFEREE  [18FihdD25 |HHAFEE 40% i
133 |SEFREE  [18FihdD26 |5HHFEE 457 i
134 |SEAFEEE  [22FhD1  |SEAFEE 12%
135 |BEEFREE  [22FihD2  |SEAFEE 13%
136 |SEAFREE (22011 |SHEFEE 113
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137 |SEFRERE  |23%HhD1 5 B =[RS 61 ih
138 |SREFIRER |24 5 B =[RS 59% ih
139 |#EFHIT [10FhD4  |SEAFEE 587 ith
140 |#EFHIT  [13FD2  |SEAFEE 597 ith
141 |S#EFHIT  [17FBO1 |SEAFEE 607 ith
142 |S#EFHIT  [18FD2  |SEAFEE 597 ith
143 |SEFHIT  [25FD1  |SEAFEE 74
144 |SREFHT  |25FH#D4  |HAFRE 15% i
145 |SREFHT  |25F#D9  |HAFRE 1A%
146 |SEAFHIT  [27FD2  |SEAFEE 6121t
147 |SEFHIT  [27FD6  |SEAFEE 697 ith
148 |SREAFHEIRE 1 FH D1 ER A F R R 1027 b
149 |SREAFHEIRR [1FHD7T EREAF R R 95 ih
150 |SREFEMER 1B D14  |SEFEHER 96 ith
151 |SEFEER |1BhD16  |SEFEHER 97 Hh
152 |SEFEER |[1FBHhD18  |SEFHER 98 ith
153 |SEFEMER [1FBHhD19  |SEFEHER 99F it
154 |SREAFHEIREK 2D 1 ER A FHERR 95 ih
155 |ERHEFHEHRR [2F D3 EREAF R R 95 ih
156 |ERHEFHIRR [3&F D2 ER A F R R 54 ih
157 |SHEFHRR [3FMD3 ER A F R R 50 ih
158 |EREFHREK 6D 1 ER A F R R 92%ih
159 |ERHEFHRR [6F D3 ER A FHERR 457 i
160 |SREAFHEIREK |[7HEHMD1 ER A FHERR 1007 #h
161 |SEFHEHRR [7& D2 ER A F R R 457 i
162 |SHEFHRR [7& D3 ER A F R R 457
163 |5k H F{H{R = |8Zith ER A F R R 457 ih
164 |SREAFHEIREK 9T D1 ER A F R R 457
165 |SHEFHIRR [9F D2 ER A F R 497 ih
166 |SRHFHIRR [9F D3 ER A F R 487 i
167 |SREFHEMER |[10F#hD2  |#EAFHER 457 i
168 |SRHEFHEMEER |11 /D2 |#EAFHER 457 i
169 |SRHEFHEMEER |12FhD2  |#EAFHER 457 i
170 | EFHEH{RZR |15 D1 EREAF R R 457 i
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205 |BREFHERER (442 ER A F R R 457 i
206 |SREFPIXIE [10FEHD3  |HREAFEHER 508t
207 |SEFPIXE [11BEMMD2  |HBREAFEHER 547
208 |SRHEFFIXIE [13B/MD2  |HRAFEHER 957 ith
209 |8k FFIXIE |25% i BREFEER 957 ith
210 |SREAFIZIE |4 D6 EREAF R R 110F Hh
211 |SREAFIZIE |4 D6 ER A F R R 101 F b
212 |SAFWZIE [4FHD18  |HEAFERR 107 Hh
213 |BREAFIZIE [14F#D1  |HAFEERR 1007 #h
214 |SREAFIZIE |16FEHD1 ER A F R R 78% i
215 |SREAFINZIE 17 D1 ER A F R R 1057 #h
216 |SREAFINZIE |18FEH D1 ER A F R R 78% i
217 |SREAFZIE [19F#D1  |HAFEERR 1007 b
218 |BRAFINZIE |20F# D2  |HAFEERE 1057 #h
219 |BRAFIZIE |20F# D3 |HAFERE 1057 #h
220 |SEAFINZIE |21 FEH D1 EREAF R R 78% i
221 |SEAFINZIE |22F D1 ER A F R R 17
222 |SREAFIN 2 IR |23% i ER A PR R 17
223 |SREAFINZ IR | 2475 ER A PR R 13%: i
224 |SREAFINZ IR | 24753 ER A PR R 51
225 |SEEATFINZIE (25T D2  |HEAFERE 1A%
226 |SHEAFINZIE |26FH D1 EREAF R R 70
227 |SEEATFINZIE [26FBHD2  |HEAFERE 713
228 |SEEATFINZIE [26FBH D3 |HEAFERE 63 ih
229 |SEEATFINZIE [26FBHD4  |HEAFERE 627 it
230 |SEATFINZIE [26FBH D5 |HEAFERE 61 ih
231 |SATFINZIE [26FB D6 |HEAFERE 60 ih
232 |SEHATFINZIE [26BHDT7  |HEAFERE 12%:
233 |SHATFINZIE [26FB D8 |HEAFHEIRE 12%:
234 |SREAFINZIE |27F D1 EREAF R R 647 ih
235 |SEATFINZIE [27FMD2  |HEAFEHRE 56 ih
236 |SREFINZ IR 313 EREAF R R 55 ih
237 |SREAFINZ IR |327 i EREAF R R 53 ih
238 | Bk R Fith [8FiHh EREF—A0R 76 i
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[ No. | (IB)F & | (H)E b i a2 B
307 |SREFRERE |[11FHODI SR F—AR0 6821t
308 |SREFRRAE |14FHD1 =ERFELIE M 131 b
309 |SREFRRAE |15FMD1 SR F—AR0 51F#hD2
310 |SREFRRAE |16FMD1 SR F—AR0 7951t
311 |SREFRERE |[17FMD1 SR F—AR0 775t
312 |SREAFRERAE |[17FEMD1 ER A F R R 1037 b
313 |SREAFRERE |18F D1 BT —A0 7851t
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